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Geometry R — Mr. Bo
Unit 7 — Day 2 Notes

Special Parallelograms:
Rectangle — Rhombus — Square

Recall: State the 5 properties that can be used to identify a parallelogram:
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Rectangle - A quadrilateral with 4 congruent angles (or 4 right angles).
Pictured is rectangle ABCD. Based on the given definition of a

B
rectangle, how do you know ABCD is also a parallelogram? Explain

your reasoning.
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The Diagonals of a Rectangle:

1. The diagonals of a Rectangle bisect each other.
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Given: Rectangle ABCD.
Explain why BDand AC bisect each other at E.
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Now that you know
1. BDand AC bisect each other atE
and
2. BD= AC

2. The diagonals of a Rectangle are Congruent.

Given: Rectangle ABCD.
Explam whyBD AC.
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what conclusion can you make about E, ﬁ,@andﬁ? Explain your reasoning.
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Using the Properties of a Rectangle:

Find each value and state the supporting property that justifies your conclusion.

Find the values | State the reasons why?
ABCD is a Rectangle. a.DC=2Y . o
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Rhombus — A quadrilateral with 4 congruent sides.
B C Pictured is Rhombus ABCD. Based on the given definition of a rhombus,

how do you know ABCD is also a parallelogram? Explain your reasoning.
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Diagonals of a Rhombus:
1. The diagonals of a Rhombus bisect each other.
. ¢  Given: Rhombus ABCD

Explain why BDand AC bisect each other at E.
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2. The diagonals of a Rhombus are Perpendicular.
»C Given: Rhombus ABCD

Explain why BD 1 AC.
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3. The diagonals of a Rhombus bisect its angles.

B ¢ Given: Rhombus ABCD
}v Explain why BD bisects ZABC.
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Using the Properties of a Rhombus:

Find each value and state the supporting property that justifies your conclusion.

Find the values | State the reasons why?
ABCD is a Rhombus. a.DC= & iy
AB=5, XC=3, m£DAB=120°. AD= %" fbombes hom ¢ ¥ g/ den.
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Square — A quadrilateral with 4 congruent sides and 4 congruent angles.

1. Is a Square also a Parallelogram? Explain your reasoning.
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2. Is a Square also a Rectangle? Explain your reasoning.
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3. Is a Square also a Rhombus? Explain your reasoning.
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Quadrilateral Family Tree
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Examples: Find the value of x in each special parallelogram. Provide a reason to support how you found x.
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